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Il. Solve:
A Multiply the following hy using tables.
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1) 32 4.1 208301
. 4 x 7
'cq U
S it e e
1) 47 x8=376_ TP,
beiesird 1Q A
2)80x 6=540_ -
E.Fmdﬂteproduct-
2 3
1573 2) A5
QD } 0 1
rtan
% 2o
¢ “-:"1',.‘0
S S €60
Il. © Do as directed.
A) Estimate the following products to nearest 10. 'd"GJOO
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B} Multiply the following using Lattice multiplication.
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D) Story sums. Yas
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1) A florist wants to make 37 bouquets with 45 flowers in each flowers in each bouquet. How

many flowers does he need? -
e Na. & vougnet < -3
Na . & 82 gewens X gs
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